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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Marks are indicated on right side.
(3) Use of calculator is allowed.

1 Explain : 20
(@) Market Equilibrium
(b) Demand Law and Supply Law
(©0 Revenue curve
(d) Price Elasticity of Demand.
OR
1 @ 1 1 notati that AR 10
n ns pr =
a n usual notations prove that m 1 R-M.R
(b) If the demand function of a monopolist is 10
x2
¥x=30-2p and cost function is c:—30+4x+%,
find maximum profit.
2 (@) Explain : Monopoly and production of two 10
commodities.
(b) Explain : 10
@) Price Elasticity of Supply
@) Price Elasticity of Cost.
OR
2 (a) Find the minimum cost if total cost function is 10
K= ﬁ+ 3—x+ 5
X
(b) If the demand function of a commodity is 10
7500 — x2 ‘
:T, find price for maximum revenue and
also find the maximum revenue. Draw revenue curve.
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3 (a) State advantages and limitations of Input-output 8

analysis.
(b) Explain Input-output analysis for two industries. 7
OR
3  The following is a technical coefficient matrix of three 15
industries.
02 02 0.1
A=|02 05 02
04 04 05

If the final demands are 33, 8 and 16 respectively for three
industries, find total productions of three industries.

4 (a) Explain : Total Utility and Marginal Utility 8
Average Production and Marginal Production.
(b) State and prove Euler's theorem. 7
OR
4 (a) Explain method to find maximum utility subject to 8

budget equation.

(b) The utility function of a consumer is 7
U =24x+48y—x2 -2 and his budget equation is

x+3y=14. Find maximum utility.
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